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2 o] 1B - IR Bif % 8 B & & ¥
EEIZE 239,121,015
=33 239,121,015
AET [(4—v H] 239,121,015
=y UBET (BEft) 169, 264, 753
F—y UEEREM 95, 920, 811
15—y BEREMERE 1.00 2,322,568 2,322,568
=
2 —y UEERAIER 1.00 93, 598, 243 93, 598, 243
=
Em 186, 022
3 IN—T 4 UTEE 331.00 562 186, 022
m2
Ri5 4,959, 335
4 SEREE SR 1, 069. 00 2,352 2,514,288
m2
5 NEZZE 1,331.00 1,837 2,445,047
m2
E2 3 23,321, 210
6 $xARANT#A3Z (D13) SD345 26, 650. 00 187 4,983, 550
kg
7 $&ERMT#A3Z (D16) SD345 29,770. 00 185 5,507, 450
kg
8 $kARAN T #AZ (D19) SD345 23,757.00 185 4,395, 045
kg
9 $kARAN T #A3L (D22) SD345 29,074.00 185 5,378, 690
kg
10 £%F5 N T #H51 (D25) SD345 16, 003. 00 185 2,960, 555
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12 BB EhHL SS400 ¢ 46mm L=2, 500mm 260. 00 72 18,720
kg

e 22,926, 591

13 SHELE 4RI HE S 4,267.00 5,373 22,926, 591
m2

arysy—+ 21, 950, 784

14 a2 91)—bMTE 30N-12cm-20mm BB W/C=50% 864. 00 25, 406 21,950, 784
m 3

F—Y UBMET (B$2) 65,549, 278

EE 166,914

15 V=71 28k 297. 00 562 166, 914
m2

= 4,512,758

16 SRR 5 R 1,008. 00 2,352 2,370, 816
m2

17 MEHR L 1,166. 00 1,837 2,141,942
m2

kAR 19, 132, 405

18 #k#H N T#ASL (D13) SD345 29, 326. 00 187 5, 483, 962
kg

19 SkEHAMTHASL (D16) SD345 27, 470. 00 185 5,081, 950
kg

20 #kARA0THESL (D19) SD345 31,077.00 185 5,749, 245
kg

21 $kARINTHESL (D22) SD345 4, 885. 00 185 903, 725
kg
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26 a9 ) —MTE 30N-12cm—20mm BB W/C=50% 803. 00 25, 406 20,401,018
m3
F—y UEKEMAT 4,306, 984
K 795, 585
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28 r—Y URE 2.118t/BH GEER IR E) 1.00 2,316, 362 2,316, 362
]
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]
HERERE (FEL 73,757, 090
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HBEREE (X)) 239,121,015 x 5.71% ((4.10% x1.00 +1.50%) x 1.02) 13, 653, 809
BERERER 239,121,015 x 0.45% 1,076, 044
RagEg 327,607,958 x 22.92% ((20.78% +1.47%) x 1.03) 75,087, 743
THRH 239,121,015 + 163,574, 686 402, 695, 701
—RERESE 402,695,701 x 14.09% (14.09% x 1.00) — 6,603 56, 733, 221
R R E 402,695, 701 x 0. 04% 161,078
e iiE 402, 695,701 + 56,733,221 + 161,078 459, 590, 000
HERERLE 459,590,000 x 10.00% 45,959, 000
FRIEH 459,590,000 + 45,959, 000 505, 549, 000
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St $HD 10t
=] 1.00 437, 118. 00 437, 118/8H
MR 2R 0Y
% 0. 50 2,311,013. 00 11, 555
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=] 49.70 1, 873, 895. 00 93,132,581 8H
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m 2 120. 00 27.00 3, 240
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m2 100. 00 2,266.00 226, 600
SITFL—rHL—r A AR ER) GhE i J&) 25t R
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ZN 1.00 9, 650. 00 9, 650
= 5 1E%HERN - 1. 00K 9, 650. 00 9, 650
H5 :12
B REBERFESL  SS400 ¢ 46mm L=2, 500mm 1000k g H Y
2 Lo R - BIRTiE BAGL #H = B i € &8 # B &
RERAR - R/ \—#sL A5 E38mm~50mmEKH Y L— ik E
k g 1, 000. 00 72. 45 72, 450
& it YEZHEH :1,000.00k g 72.00 72, 450
H5:13
PR e Ry e v 1N 100m 24y
2 Lo R - BIRTiE BAGL #H = B i € &8 # B &
SR RAEST AR (r— Y 2 8E) g L—kE
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ST7TL—29Lb—r A RARER) GhE i D) 25t/
B 0.40 43, 300. 00 17,320 8H
= it 1E%HEH : 100.00m 2 5,373.00 537, 320
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STFL—rL—r A AR ER) GhE i I8 25t R
B 0.10 43, 300. 00 4,330 8H
= it YEZERESN - 1,000.00k g 185. 00 185, 900
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2% RBHmMEE  SS400 ¢ 44mm L=2, 300mm 1AK%
£ 7 R - BIRTiE B #H = B i € # s &
=B SS400 ¢ 44mm, L=2350mm
ZN 1.00 8,120.00 8,120
= 5 1E%HERN - 1. 00K 8,120.00 8,120
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ZF  (RBAML SS400 ¢ 44mm L=2, 300mm 1000k g H Y
£ 7 R - BIRTiE B #H = B i € # s &
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k g 1, 000. 00 72. 45 72, 450
& it YEZHEH - 1,000.00k g 72.00 72, 450
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=] 0.40 43, 300. 00 17,320/8H
=) &t %85 - 100.00m 2 5,373.00 537,320
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B a2y ) — T 30N-12cm-20mm BB W/C=50% 10m3%Y
# 5 & - ks B W OB B & #@  E H =
LT4—3H9Xbavy)—F 30N—12cm—20mm BB W/C=50%
m 3 10.10 21, 100. 00 213,110
AV — TR (T —Y U8 Ry J&
m 3 10. 00 4,095.00 40, 950
=) &t 1E%8E - 10.00m 3 25, 406. 00 254, 060
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EUI
A 2.00 24, 680. 00 49, 360
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=) &t EEHED - 1.00[ 795, 585. 00 795, 585
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